HOMEWORK 10 Term 3 Sheet 3

1. Convert the following lengths

2. Convert the following Area

3. Convert the following capacities

a) 130km = 0m a) 3.6m? = cm? a) 35cm? = __mL
b) 3.24km =—  cm b) 24.5m? = mm? | b) 26.3m3 = L
c) 43000m = km c) 27000 mm?2= m? c) 8520m3 = m3
d) 483000cm = m d) 66000 m? = hectares | d) 15L = mL
e) 349800cm = km
4. Find the Perimeter (in mm) 5. Find the Area 6. Find the Volume
a 1
) a) —bh a) —bhl
2
43 mm 25 mm
0.28m _
6.1cm +———— 3mm ———————»
b) 3.5cm

42 em

Use g =%

Hm

7. Find the Area of the shaded part

132 mm
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8. Find the Area of the shaded part

9. Find the Area of the shaded part

— Bom—=—4cm—-
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